

FIXED POINTS OF α -NONEXPANSIVE AND α -ASIMPTOTICALLY NONEXPANSIVE MAPPINGS

ISHAK ALTUN* AND ZEYNEP İREM SEKİ**

*Department of Mathematics, Faculty of Engineering and Natural Sciences,
Kırıkkale University, 71450, Yahsihan, Kırıkkale, Turkey
E-mail: ishakaltun@yahoo.com (Corresponding author)

**Department of Mathematics, Faculty of Engineering and Natural Sciences,
Kırıkkale University, 71450, Yahsihan, Kırıkkale, Turkey
E-mail: zeynepseki6@gmail.com

Abstract. In this paper, inspired by the concept of α -admissibility developed in metric fixed point theory, we introduce the concepts of α -nonexpansive and α -asymptotically nonexpansive mappings in normed spaces and present some fixed point theorems for such mappings. The approach here carries forward and improves the results obtained for monotone nonexpansive and monotone asymptotically nonexpansive mappings.

Key Words and Phrases: Fixed point, nonexpansive mappings, α -nonexpansive mappings.

2020 Mathematics Subject Classification: 54H25, 47H10.

1. INTRODUCTION

The concept of nonexpansive mapping is an important one for metric fixed point theory. The study of fixed point theory for such mappings is not as simple as the study of contraction or contraction type mappings. It is commonly known that a self mapping T on a metric space (X, d) is called a Lipschitz mapping if there exists $\lambda \geq 0$ such that

$$d(Tx, Ty) \leq \lambda d(x, y)$$

holds for all $x, y \in X$. If we denote the smallest of the λ numbers that satisfy this inequality with L , L is called the Lipschitz constant of T . If $L < 1$, T is called contraction mapping, and if $L = 1$, T is called nonexpansive mapping. Additionally, if

$$d(Tx, Ty) < d(x, y)$$

holds for all $x, y \in X$ with $x \neq y$, then T is called contractive mapping.

According to the Banach fixed point theorem, if X is complete and T is a contraction mapping, then T has a unique fixed point, and every Picard iteration sequence (the sequence $\{x_n\}$ defined by $x_{n+1} = Tx_n$ for $x_0 \in X$) converges to this fixed point. If T is merely a contractive mapping, completeness of X is not sufficient to guarantee

a fixed point. However, if X is compact, then every contractive mapping has a unique fixed point, and the Picard iteration sequence still converges to it.

In contrast, even the compactness of the space does not ensure the existence of fixed points for nonexpansive mappings, as illustrated by the simple example $T : \{0, 1\} \rightarrow \{0, 1\}$, defined by $T(0) = 1$, $T(1) = 0$. Clearly, additional conditions are needed. For instance, the Schauder fixed point theorem ensures that every nonexpansive mapping on a nonempty, compact, and convex subset of a normed space has at least one fixed point. However, in this case, the fixed point may not be unique, and the Picard iteration sequence may not converge.

Previous studies have explored how the compactness condition on X can be weakened while still guaranteeing the existence of fixed points for nonexpansive mappings. In 1965, Browder [8], Göhde [9], and Kirk [11] independently proved that every nonexpansive self-mapping on a nonempty, closed, bounded, and convex subset of a Hilbert space (or even a uniformly convex Banach space) has at least one fixed point.

While research on the existence of fixed points for nonexpansive mappings continues, attention has also turned to understanding the behavior of iteration sequences that converge to these fixed points, the conditions under which convergence occurs, and how the rates of convergence compare.

In addition to the Picard iteration sequence mentioned above, Mann iteration sequence, Ishikawa iteration sequence and Krasnoselskii iteration sequence, which we will consider in this study, are some of them (see [1, 7] for more information). Let C be a nonempty convex subset of a normed space and let $T : C \rightarrow C$ be a map. Then, the iterative sequence $\{x_n\}$ defined by

$$x_{n+1} = \lambda x_n + (1 - \lambda)Tx_n$$

for $\lambda \in (0, 1)$ and $x_0 \in X$, is the Krasnoselskii iteration sequence.

On the other hand, the fixed point theorems obtained for Lipschitz mappings have been given a different perspective by imposing an order relation on the space. For this purpose, Ran and Reurings [13] presented a theorem that guarantees the existence of a fixed point if X is a partially ordered complete metric space and the contraction inequality holds for elements comparable in order, and this theorem was extended to other contraction type inequalities (see [3, 4, 6, 10, 12]). This idea was taken into account by Bachar and Khamsi [5] for nonexpansive mappings and by Alfuraidan and Khamsi [2] for asymptotically nonexpansive mappings and some fixed point theorems for monotone (asymptotically) nonexpansive mappings in Banach spaces was obtained.

The condition on the aforementioned inequalities can also be weakened by using an α function to cover it instead of the order relation given on the space. For this purpose, Samet et al. [14] introduced the notion of α -admissible mapping and guaranteed the existence of a fixed point if the contraction inequality is satisfied by points satisfying the property $\alpha(x, y) \geq 1$. If X is endowed with an order relation $\preceq$ and the function $\alpha : X \times X \rightarrow \mathbb{R}$ is defined in the form

$$\alpha(x, y) = \begin{cases} 1 & , \quad x \preceq y \\ 0 & , \quad x \not\preceq y \end{cases}, \quad (1.1)$$

the condition that points satisfying the property $\alpha(x, y) \geq 1$ satisfy the contraction inequality coincides with the condition that points of the form $x \preceq y$ satisfy the same inequality. Thus, in this special case of α function, the idea of Ran and Reurings is obtained.

In this paper, the method of α -admissibility is applied to both nonexpansive and asymptotically nonexpansive mappings. Based on this approach, we introduce the concepts of α -nonexpansive and α -asymptotically nonexpansive mappings, and establish several new fixed point theorems for such mappings in Banach spaces.

2. PRELIMINARIES

Let (X, d) be a metric space, $T : X \rightarrow X$ be a mapping and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function. Then T is said to be α -admissible if

$$\alpha(x, y) \geq 1 \Rightarrow \alpha(Tx, Ty) \geq 1$$

for every $x, y \in X$. (see [14] for more information).

Now let us introduce the following definition, which forms the main idea of this study.

Definition 2.1 Let (X, d) be a metric space, $T : X \rightarrow X$ be a mapping and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function. Then, T is called α -Lipschitzian mapping if it is α -admissible and there exists $K \geq 0$ such that

$$d(Tx, Ty) \leq Kd(x, y)$$

for every $x, y \in X$ with $\alpha(x, y) \geq 1$. Especially, if $K < 1$ then T is said to be α -contraction and if $K \leq 1$ then T is said to be α -nonexpansive mapping. Also T is said to be α -asymptotically nonexpansive mapping if T is α -admissible and there exists a sequence $\{K_n\}$ of real numbers such that $\lim K_n = 1$ and

$$d(T^n x, T^n y) \leq K_n d(x, y)$$

for every $x, y \in X$ with $\alpha(x, y) \geq 1$.

If X is equipped with a partial order relation, say $\preceq$, then taking into account the function specified in (1.1), the concept of α -Lipschitzian (resp. α -nonexpansive, α -asymptotically nonexpansive) mapping becomes monotone Lipschitzian (resp. monotone nonexpansive, monotone asymptotically nonexpansive) mapping.

Let $(X, \|\cdot\|)$ be a normed space and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function. Throughout this paper we will consider the following subsets of X :

$$\begin{aligned} U(\alpha, a) &= \{x \in X : \alpha(a, x) \geq 1\}, \\ L(\alpha, a) &= \{x \in X : \alpha(x, a) \geq 1\} \end{aligned}$$

for $a \in X$ and we will call $U(\alpha, a)$ and $L(\alpha, a)$ upper and lower level sets of a , respectively. It is clear that for $a, b \in X$

$$b \in U(\alpha, a) \Leftrightarrow a \in L(\alpha, b).$$

Definition 2.2 Let X be a nonempty set and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function. We will say that α has nested property with respect to upper (resp. lower) level sets if

for every $a, b \in X$ such that $b \in U(\alpha, a)$ implies $U(\alpha, b) \subseteq U(\alpha, a)$ (resp. $b \in L(\alpha, a)$ implies $L(\alpha, b) \subseteq L(\alpha, a)$). Also we will say that α is reflexive if for every $a \in X$ such that $\alpha(a, a) \geq 1$.

Remark 2.3 Let α be a reflexive function on a nonempty set X . Then α has the nested property with respect to upper level sets if and only if it has the nested property with respect to lower level sets.

Definition 2.4 Let X be a nonempty set and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function. We will say that α has equivalent property if for every $a, b \in X$ such that $b \in U(\alpha, a)$ and $a \in U(\alpha, b)$ implies $a = b$.

3. α -NONEXPANSIVE MAPPINGS

Before giving our main theorem, let us express and prove some lemmas needed in the theorem.

Lemma 3.1 Let $(X, \|\cdot\|)$ be a Banach space, τ be a Hausdorff topology on X , and let $\alpha : X \times X \rightarrow \mathbb{R}$ be a reflexive function having the nested and equivalent properties, such that its upper and lower level sets are convex and τ -closed. Let $C \subseteq X$ be a convex and bounded subset not reduced to a one point, and let $T : C \rightarrow C$ be an α -admissible mapping. Then, for the Krasnoselskii iteration sequence $\{x_n\}$ starting at x_0 with $\alpha(x_0, Tx_0) \geq 1$, we have

$$U(\alpha, Tx_{n+1}) \subseteq U(\alpha, Tx_n) \subseteq U(\alpha, x_{n+1}) \subseteq U(\alpha, x_n), \quad \forall n \in \mathbb{N}. \quad (3.1)$$

Moreover, if $\{x_n\}$ has two subsequences that τ -converge to z and w , respectively, then $z = w$.

Proof. First, recall that since α is reflexive, we have $\alpha(x, x) \geq 1$ for all $x \in X$, which implies $x \in U(\alpha, x)$ and $x \in L(\alpha, x)$. Moreover, by definition, for any $x, y \in C$ with $\alpha(x, y) \geq 1$, we have $y \in U(\alpha, x)$ and $x \in L(\alpha, y)$. Since the upper and lower level sets are convex, we deduce that

$$\lambda x + (1 - \lambda)y \in U(\alpha, x) \cap L(\alpha, y), \quad \forall \lambda \in [0, 1]. \quad (3.2)$$

We now show by induction that $\alpha(x_n, Tx_n) \geq 1$ for all $n \in \mathbb{N}$.

Base case: By the hypothesis, we have $\alpha(x_0, Tx_0) \geq 1$.

Inductive step: Assume that $\alpha(x_m, Tx_m) \geq 1$ for some $m \geq 0$. Then, by (3.2), we have

$$x_{m+1} = \lambda x_m + (1 - \lambda)Tx_m \in U(\alpha, x_m) \cap L(\alpha, Tx_m).$$

This means $x_{m+1} \in U(\alpha, x_m)$, and $Tx_m \in U(\alpha, x_{m+1})$ (since $x_{m+1} \in L(\alpha, Tx_m)$).

Then, using the nestedness of α , we obtain

$$U(\alpha, Tx_m) \subseteq U(\alpha, x_{m+1}) \subseteq U(\alpha, x_m).$$

Moreover, since T is α -admissible and $\alpha(x_m, Tx_m) \geq 1$, we have $\alpha(Tx_m, Tx_{m+1}) \geq 1$, implying $Tx_{m+1} \in U(\alpha, Tx_m)$. But since $U(\alpha, Tx_m) \subseteq U(\alpha, x_{m+1})$, it follows that:

$$Tx_{m+1} \in U(\alpha, x_{m+1}) \Rightarrow \alpha(x_{m+1}, Tx_{m+1}) \geq 1.$$

Thus, by induction, we have $\alpha(x_n, Tx_n) \geq 1$ for all $n \in \mathbb{N}$. Applying (3.2) again, and using the same reasoning, we get the nested inclusions:

$$U(\alpha, Tx_{n+1}) \subseteq U(\alpha, Tx_n) \subseteq U(\alpha, x_{n+1}) \subseteq U(\alpha, x_n), \quad \forall n.$$

Now suppose that $\{x_{n_k}\}$ is a subsequence of $\{x_n\}$ that τ -converges to $z \in X$. Since the sets $U(\alpha, x_n)$ form a decreasing sequence of closed sets, and each neighborhood $N_z \in \tau$ contains infinitely many x_n , we conclude that

$$z \in \bigcap_n U(\alpha, x_n),$$

i.e., $z \in U(\alpha, x_n)$ for all n , which implies $\alpha(x_n, z) \geq 1$, or equivalently, $x_n \in L(\alpha, z)$ for all n .

Let now w be the τ -limit of another subsequence $\{x_{m_k}\}$ of $\{x_n\}$. Since $x_{m_k} \in L(\alpha, z)$ and $L(\alpha, z)$ is τ -closed, we get $w \in L(\alpha, z)$, hence $\alpha(w, z) \geq 1$.

Repeating the same argument with the roles of z and w reversed, we obtain $\alpha(z, w) \geq 1$. Then, by the equivalence property of α , we conclude $z = w$. $\square$

Remark 3.2 Under the assumptions of Lemma 3.1, if we assume $\alpha(Tx_0, x_0) \geq 1$, then we will have

$$U(\alpha, x_n) \subseteq U(\alpha, x_{n+1}) \subseteq U(\alpha, Tx_n) \subseteq U(\alpha, Tx_{n+1})$$

for any $n \in \mathbb{N}$.

Lemma 3.3 Under the assumptions of Lemma 3.1, for any $i, n \in \mathbb{N}$, we have

$$(1+n(1-\lambda)) \|Tx_i - x_i\| \leq \|Tx_{n+i} - x_i\| + \lambda^{-n} (\|Tx_i - x_i\| - \|Tx_{n+i} - x_{n+i}\|). \quad (3.3)$$

As a consequence, it follows that

$$\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0.$$

Proof. We begin by recalling that the iteration sequence $\{x_n\}$ is defined by

$$x_{n+1} = \lambda x_n + (1-\lambda)Tx_n.$$

Let us examine the difference between successive iterates:

$$\|x_{n+2} - x_{n+1}\| = \|\lambda(x_{n+1} - x_n) + (1-\lambda)(Tx_{n+1} - Tx_n)\|.$$

Using the triangle inequality, we get

$$\|x_{n+2} - x_{n+1}\| \leq \lambda\|x_{n+1} - x_n\| + (1-\lambda)\|Tx_{n+1} - Tx_n\|.$$

Since T is α -nonexpansive and $\alpha(x_n, Tx_n) \geq 1$, from Lemma 3 we know that

$$\|Tx_{n+1} - Tx_n\| \leq \|x_{n+1} - x_n\|.$$

Hence,

$$\|x_{n+2} - x_{n+1}\| \leq \lambda\|x_{n+1} - x_n\| + (1-\lambda)\|x_{n+1} - x_n\| = \|x_{n+1} - x_n\|.$$

This shows that the sequence $\{\|x_{n+1} - x_n\|\}$ is non-increasing.

Now, we can write the inequality (3.3) as follows:

$$\|Tx_{n+i} - x_i\| \geq \lambda^{-n} (\|Tx_{n+i} - x_{n+i}\| - \|Tx_i - x_i\|) + (1+n(1-\lambda)) \|Tx_i - x_i\|. \quad (3.4)$$

To show accuracy the inequality (3.4), we will use the mathematical induction on the index n . First note that, since

$$\|Tx_i - x_i\| \geq \|Tx_i - x_i\| - \|Tx_i - x_i\| + \|Tx_i - x_i\|,$$

then (3.4) is true for $n = 0$ and for all $i \in \mathbb{N}$. Now, assume (3.4) is true for some $n \in \mathbb{N}$ and for all $i \in \mathbb{N}$, and prove it is true for $n + 1$. In this case by taking $i + 1$ instead of i , we have

$$\begin{aligned} \|Tx_{n+i+1} - x_{i+1}\| &\geq \lambda^{-n}(\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\|) \\ &\quad + (1 + n(1 - \lambda)) \|Tx_{i+1} - x_{i+1}\| \end{aligned} \quad (3.5)$$

for some $n \in \mathbb{N}$. On the other hand, since T is α -nonexpansive, we have

$$\begin{aligned} \|Tx_{n+i+1} - x_{i+1}\| &= \|Tx_{n+i+1} - (\lambda x_i + (1 - \lambda)Tx_i)\| \\ &= \|(1 - \lambda + \lambda)Tx_{n+i+1} - (\lambda x_i + (1 - \lambda)Tx_i)\| \\ &= \|(1 - \lambda)Tx_{n+i+1} + \lambda Tx_{n+i+1} - \lambda x_i - (1 - \lambda)Tx_i\| \\ &= \|(1 - \lambda)(Tx_{n+i+1} - Tx_i) + \lambda(Tx_{n+i+1} - x_i)\| \\ &\leq (1 - \lambda) \|Tx_{n+i+1} - Tx_i\| + \lambda \|Tx_{n+i+1} - x_i\| \\ &\leq (1 - \lambda) \left\{ \|Tx_{n+i+1} - Tx_{n+i}\| + \|Tx_{n+i} - Tx_{n+i-1}\| \right\} \\ &\quad + \lambda \|Tx_{n+i+1} - x_i\| \\ &\leq \lambda \|Tx_{n+i+1} - x_i\| + (1 - \lambda) \sum_{k=0}^n \|Tx_{i+k+1} - Tx_{i+k}\| \\ &\leq \lambda \|Tx_{n+i+1} - x_i\| + (1 - \lambda) \sum_{k=0}^n \|x_{i+k+1} - x_{i+k}\|. \end{aligned} \quad (3.6)$$

Now from (3.6), we have

$$\lambda \|Tx_{n+i+1} - x_i\| \geq \|Tx_{n+i+1} - x_{i+1}\| - (1 - \lambda) \sum_{k=0}^n \|x_{i+k+1} - x_{i+k}\|,$$

and taking into account (3.5) we get

$$\begin{aligned} \lambda \|Tx_{n+i+1} - x_i\| &\geq \lambda^{-n}(\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\|) \\ &\quad + (1 + n(1 - \lambda)) \|Tx_{i+1} - x_{i+1}\| \\ &\quad - (1 - \lambda) \sum_{k=0}^n \|x_{i+k+1} - x_{i+k}\|. \end{aligned}$$

Dividing both sides of this inequality by λ we get

$$\begin{aligned} \|Tx_{n+i+1} - x_i\| &\geq \lambda^{-(n+1)}(\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\|) \\ &\quad + (1 + n(1 - \lambda))\lambda^{-1} \|Tx_{i+1} - x_{i+1}\| \\ &\quad - (1 - \lambda)\lambda^{-1} \sum_{k=0}^n \|x_{i+k+1} - x_{i+k}\|. \end{aligned}$$

Finally, since the inequality $1 + n(1 - \lambda) \leq \lambda^{-n}$ is true and the sequence $\{\|Tx_n - x_n\|\}$ is nonincreasing we have

$$\begin{aligned}
 \|Tx_{n+i+1} - x_i\| &\geq \lambda^{-(n+1)}(\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\|) \\
 &\quad + (1 + n(1 - \lambda))\lambda^{-1} \|Tx_{i+1} - x_{i+1}\| \\
 &\quad - (1 - \lambda)\lambda^{-1} \sum_{k=0}^n \|x_{i+k+1} - x_{i+k}\| \\
 &\geq \lambda^{-(n+1)}(\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\|) \\
 &\quad + (1 + n(1 - \lambda))\lambda^{-1} \|Tx_{i+1} - x_{i+1}\| \\
 &\quad - (1 - \lambda)^2 \lambda^{-1} (n + 1) \|Tx_i - x_i\| \\
 &= \lambda^{-(n+1)}\{\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_{i+1} - x_{i+1}\| \\
 &\quad - \|Tx_i - x_i\| + \|Tx_i - x_i\|\} \\
 &\quad + (1 + n(1 - \lambda))\lambda^{-1} \|Tx_{i+1} - x_{i+1}\| \\
 &\quad - (1 - \lambda)^2 \lambda^{-1} (n + 1) \|Tx_i - x_i\| \\
 &= \lambda^{-(n+1)}\{\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_i - x_i\|\} \\
 &\quad + [(1 + n(1 - \lambda))\lambda^{-1} - \lambda^{-(n+1)}] \|Tx_{i+1} - x_{i+1}\| \\
 &\quad + [\lambda^{-(n+1)} - (1 - \lambda)^2 \lambda^{-1} (n + 1)] \|Tx_i - x_i\| \\
 &\geq \lambda^{-(n+1)}\{\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_i - x_i\|\} \\
 &\quad + [(1 + n(1 - \lambda))\lambda^{-1} - \lambda^{-(n+1)}] \|Tx_i - x_i\| \\
 &\quad + [\lambda^{-(n+1)} - (1 - \lambda)^2 \lambda^{-1} (n + 1)] \|Tx_i - x_i\| \\
 &= \lambda^{-(n+1)}\{\|Tx_{n+i+1} - x_{n+i+1}\| - \|Tx_i - x_i\|\} \\
 &\quad + (1 + (n + 1)(1 - \lambda)) \|Tx_i - x_i\|.
 \end{aligned}$$

This shows that (3.4) is true for $(n + 1)$. Now assume $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = R$. Then by taking limit as $i \rightarrow \infty$ in (3.4) we have

$$\delta(C) \geq (1 + n(1 - \lambda))R$$

for all $n \in \mathbb{N}$, where

$$\delta(C) = \sup \{\|x - y\| : x, y \in C\}.$$

Hence, we get

$$R \leq \frac{\delta(C)}{(1 + n(1 - \lambda))}$$

for all $n \in \mathbb{N}$. This shows that $R = 0$, that is, $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$. $\square$

Definition 3.4 [5] Let $(X, \|\cdot\|)$ be a normed space, τ be a Hausdorff topology on X . Then X is said to have τ -Opial condition if for any sequence $\{x_n\}$ in X which τ -converges to x , we have

$$\limsup_{n \rightarrow \infty} \|x_n - x\| < \limsup_{n \rightarrow \infty} \|x_n - z\|$$

for any $z \in X$ with $z \neq x$.

Now we are ready to state the main result for α -nonexpansive mapping.

Theorem 3.5 *Let $(X, \|\cdot\|)$ be a Banach space, τ be a Hausdorff topology on X such that X satisfies the τ -Opial condition. Let $\alpha : X \times X \rightarrow \mathbb{R}$ be a reflexive function which has nested and equivalent properties such that upper and lower level sets are convex and τ -closed. Let C be a nonempty, convex, bounded and τ -compact subset of X and $T : C \rightarrow C$ be an α -nonexpansive mapping. If there exists $x_0 \in C$ such that $Tx_0 \in U(\alpha, x_0) \cup L(\alpha, x_0)$, then T has a fixed point.*

Proof. Let $x_0 \in C$ such that $Tx_0 \in U(\alpha, x_0) \cup L(\alpha, x_0)$. Without loss of generality, assume $Tx_0 \in U(\alpha, x_0)$. Consider the Krasnoselskii iteration sequence $\{x_n\}$ which starts at x_0 in C defined by $x_{n+1} = \lambda x_n + (1 - \lambda)Tx_n$ for $n \in \mathbb{N}$. Since C is τ -compact, then $\{x_n\}$ has a subsequence $\{x_{n_k}\}$ which τ -converges to some point $z \in C$. Therefore, Lemma 3.1 implies $\{x_n\}$ is also τ -converges to z and $z \in U(\alpha, x_n)$ for any $n \in \mathbb{N}$. Consider the type function

$$r(x) = \limsup_{n \rightarrow \infty} \|x_n - x\|$$

for $x \in C$. Then, Lemma 3.3 implies

$$r(x) = \limsup_{n \rightarrow \infty} \|Tx_n - x\|$$

for any $x \in C$. Since T is α -nonexpansive, we have

$$\begin{aligned} r(Tz) &= \limsup_{n \rightarrow \infty} \|x_n - Tz\| \\ &= \limsup_{n \rightarrow \infty} \|Tx_n - Tz\| \\ &\leq \limsup_{n \rightarrow \infty} \|x_n - z\| \\ &= r(z). \end{aligned}$$

Finally, since X satisfies the τ -Opial condition, then we have $Tz = z$. $\square$

In Theorem 3.5, by taking the α function as in (1.1), we can obtain the following corollary, which is actually the main theorem of [5]. Recall that an order interval in a partially ordered space $(X, \preceq)$ is any of the subsets

$$\begin{aligned} [a, b] &= \{x \in X : a \preceq x \preceq b\} \\ [a, \rightarrow) &= \{x \in X : a \preceq x\} \\ (\leftarrow, b] &= \{x \in X : x \preceq b\} \end{aligned}$$

for any $a, b \in X$.

Corollary 3.6 *Let $(X, \|\cdot\|)$ be a Banach space, τ be a Hausdorff topology on X such that X satisfies the τ -Opial condition. Let $\preceq$ be a partial order on X such that order intervals are convex and τ -closed. Let C be a nonempty, convex, bounded and τ -compact subset of X and $T : C \rightarrow C$ be a monotone nonexpansive mapping. If there exists $x_0 \in C$ such that x_0 and Tx_0 are comparable. Then T has a fixed point.*

4. α -ASYMPTOTICALLY NONEXPANSIVE MAPPINGS

In this section we will present a fixed theorem for α -asymptotically nonexpansive mapping. For this we need the following technical lemma.

Lemma 4.1 [2] *Let C be a nonempty closed convex subset of uniformly convex Banach space $(X, \|\cdot\|)$. Let $\tau : C \rightarrow [0, \infty)$ be a type function. Then τ has a unique minimum point $z \in C$ such that*

$$\tau(z) = \inf\{\tau(x) : x \in C\} = \tau_0.$$

Moreover, if $\{z_n\}$ is a minimizing sequence in C , the $\{z_n\}$ converges strongly to z .

Theorem 4.2 *Let $(X, \|\cdot\|)$ be a uniformly convex Banach space and $\alpha : X \times X \rightarrow \mathbb{R}$ be a function having nested property such that upper and lower level sets are closed and convex. Let C be a nonempty closed, convex and bounded subset of X and $T : C \rightarrow C$ be a continuous α -asymptotically nonexpansive mapping. If there exists $x_0 \in C$ such that $Tx_0 \in U(\alpha, x_0) \cup L(\alpha, x_0)$, then T has a fixed point.*

Proof. Let $x_0 \in C$ be such that $Tx_0 \in U(\alpha, x_0) \cup L(\alpha, x_0)$. Without loss of generality, assume $Tx_0 \in U(\alpha, x_0)$. Since T is α -admissible, we have $T^{n+1}x_0 \in U(\alpha, T^n x_0)$ for every $n \in \mathbb{N}$. Since α has nested property we have $U(\alpha, T^{n+1}x_0) \subseteq U(\alpha, T^n x_0)$ and they are also closed, convex and X is reflexive, we conclude that

$$C_\alpha = \bigcap_{n \geq 0} U(\alpha, T^n x_0) \cap C = \bigcap_{n \geq 0} \{x \in C : \alpha(T^n x_0, x) \geq 1\} \neq \emptyset.$$

Let $x \in C_\alpha$, then $x \in U(\alpha, T^n x_0)$ for all $n \geq 0$ and so $\alpha(T^n x_0, x) \geq 1$. Since T is α -admissible we have $\alpha(T^{n+1}x_0, Tx) \geq 1$, that is, we have $Tx \in U(\alpha, T^{n+1}x_0) \subseteq U(\alpha, T^n x_0)$ for all $n \geq 0$. This shows that $Tx \in C_\alpha$ and so $T(C_\alpha) \subseteq C_\alpha$. Now consider the type function $\tau : C_\alpha \rightarrow [0, \infty)$ generated by $\{T^n x_0\}$, that is,

$$\tau(x) = \limsup_{n \rightarrow \infty} \|T^n x_0 - x\|.$$

Considering Lemma 4.1 we have a unique $z \in C_\alpha$ such that

$$\tau(z) = \inf\{\tau(x) : x \in C_\alpha\} = \tau_0.$$

Since $z \in C_\alpha$, we have $T^p z \in C_\alpha$ for every $p \in \mathbb{N}$. Let $p, n \in \mathbb{N}$ with $n > p$. Then, since $z \in C_\alpha$, we have $z \in U(\alpha, T^{n-p}x_0)$ and so $\alpha(T^{n-p}x_0, z) \geq 1$. Since T is α -asymptotically nonexpansive we have

$$\|T^n x_0 - T^p z\| = \|T^p T^{n-p} x_0 - T^p z\| \leq K_p \|T^{n-p} x_0 - z\|, \quad (4.1)$$

where $\{K_p\}$ is given in Definition 2.1 such that $\lim_{p \rightarrow \infty} K_p = 1$. Therefore using (4.1) we have

$$\begin{aligned} \tau_0 &\leq \tau(T^p z) \\ &= \limsup_{n \rightarrow \infty} \|T^n x_0 - T^p z\| \\ &\leq K_p \limsup_{n \rightarrow \infty} \|T^{n-p} x_0 - z\| \\ &= K_p \limsup_{n \rightarrow \infty} \|T^n x_0 - z\| \\ &= K_p \tau(z) = K_p \tau_0. \end{aligned} \quad (4.2)$$

Hence from (4.2) we have

$$\lim_{p \rightarrow \infty} \tau(T^p z) = \tau_0.$$

This shows that $\{T^p z\}$ is a minimizing sequence of τ . Using Lemma 4.1, we obtain that $\{T^p z\}$ converges to z . Since T is continuous we have $Tz = z$. $\square$

Acknowledgement. The authors are grateful to the referees because their suggestions contributed to improve the paper.

REFERENCES

- [1] R.P. Agarwal, D. O'Regan, D.R. Sahu, *Fixed Point Theory for Lipschitzian Type Mappings with Applications*, Springer Dordrecht Heidelberg London New York, 2009.
- [2] M.R. Alfuraidan, M.A. Khamsi, *A fixed point theorem for monotone asymptotically nonexpansive mappings*, Proceedings of the American Mathematical Society, **146**(6)(2018), 2451-2456.
- [3] I. Altun, H. Simsek, *Some fixed point theorems on ordered metric spaces and application*, Fixed Point Theory and Applications, (2010), Article ID 621469, 17 pages.
- [4] A. Amini-Harandi, H. Emami, *A fixed point theorem for contraction type maps in partially ordered metric spaces and application to ordinary differential equations*, Nonlinear Analysis: Theory, Methods and Applications, **72**(5)(2010), 2238-2242.
- [5] M. Bachar, M.A. Khamsi, *Fixed points of monotone mappings and application to integral equations*, Fixed Point Theory and Applications, **2015**(110)(2015), <https://doi.org/10.1186/s13663-015-0362-x>.
- [6] I. Beg, I. Eroğlu, O. Valero, *Fixed points on partially ordered quasi-metric spaces*, Fixed Point Theory, **25**(2)(2024), 473-494.
- [7] V. Berinde, *Iterative Approximation of Fixed Points*, Springer-Verlag Berlin Heidelberg, 2007.
- [8] F.E. Browder, *Nonexpansive nonlinear operators in a Banach space*, Proceedings of the National Academy of Sciences of the United States of America, **54**(4)(1965), 1041-1044.
- [9] D. Göhde, *Zum prinzip der kontraktiven abbildung*, Math. Nachr., **30**(1965), 251-258.
- [10] J. Harjani, B. López, K. Sadarangani, *Fixed point theorems for weakly C-contractive mappings in ordered metric spaces*, Computers and Mathematics with Applications, **61**(4)(2011), 790-796.
- [11] W.A. Kirk, *A fixed point theorem for mappings which do not increase distances*, The American Mathematical Monthly, **72**(9)(1965), 1004-1006.
- [12] A. Nicolae, D. O'Regan, A. Petruşel, *Fixed point theorems for singlevalued and multivalued generalized contractions in metric spaces endowed with a graph*, Georgian Mathematical Journal, **18**(2)(2011), 307-327.
- [13] A.C.M. Ran, M.C.B. Reurings, *A fixed point theorem in partially ordered sets and some applications to matrix equations*, Proceedings of the American Mathematical Society, **132**(5)(2003), 1435-1443.
- [14] B. Samet, C. Vetro, P. Vetro, *Fixed point theorems for α - ψ -contractive type mappings*, Nonlinear Analysis: Theory, Methods and Applications, **75**(4)(2012), 2154-2165.

Received: May 29, 2024; Accepted: November 5, 2025.